Hl & 0 A AF & & A
SA: XDt
M xZ=J|8 &Y
ool 2HS A 25 (&2 &H)
- . bSIE]
2H - H2 .S (3H) - HEAY - HES 0f) &k '@E% Hunsz
JI X 2ot 7,613,751 5,590, 185 2,023,566
= 1,036,078
Al 6,577,673
£=J|8 =Y 145,586 144,200 1,386
NS4 23 145,586 144,200 1,386
(B=)=2HEs U 85,586 84,200 1,386
202 o4l 5,586 7,200 A1,614
03 =20t 5,586 7,200 A1,B14
OMAA BN HEH, 2Hat5 ol 5,586
ogza 1,300,0008 * 19 « 23] 2,600
O=¢gty 115,500 » 18 * 72 x 23 1,617
OAH| 56,9002 * 12 » 8 x 23 911
ol 28,6008 * 1 » 8L » 23 458
307 2Iztol® 80,000 77,000 3,000
02 oI2ABAMEXRS 80,000 77,000 3,000
OBHAAZE MG IAX
5,000,0002 * 7IH At 35,000
OFEAIIY L2 AS X
5,000,0002 * 7IH A 35,000
O22Y FANII YHAY HEXNS N
10,000,000 * 1JHCHE 10,000
()2 S AAY 60,000 60,000 0
307 2I12Hol ™ 60,000 60,000 0
02 QIHAAMNEXS 60,000 0 60,000
ORUBE XA 1,000, 0002 *207H & & 20,000
OBHASPHEAIS ZHIIXS 40,000,000 *14! 40,000
#HAM2HHH (DY X&) 48,607 86,198 A37,591
clai29y| 2,299 34,878 £32,579
(Bz)o2yl 2,299 34,878 A32,579
101 @1 244| 2,299 34,878 232,579
02 JIEt= 24 2,299 2,146 153
OEHAZ 24 2,299
OAI2te 2=¢ 65,3862 * 30AI2 » 12® 2,299
=& 46,308 51,320 25,012
(He)J|=2A| 46,308 51,320 25,012
201 L2 15,408 17,120 A1,T12
01 AFR22lbl 15,408 17,120 A1,712
OB A2l HAE2 10,656
o= Hl oaEA 4,752
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A IIGRAD
H: Y SHAY(OILXA )

ol J|2& | (2 dA>)
% . d L
SA - HH . O(3H) - HRAY - B2 0il &k o8 S TimE=ET
202 044l 25,920 28,800 22,880
01 =LA 25,920 28,800 A2,880
OJIIEYRFACH olarE 25,920
203 R =&IH| 3,780 4,200 N420
04 EM2ISTRFAHI 3,780 4,200 A420
O=AESIFEH oaE 3,780
204 DR AH| 1,200 1,200 0
01 AR AH| 1,200 1,200 0
OXNHZLR A 100,000 128 1,200
FZst 196,338 205,045 A8,707
Mw S A 196,338 205,045 AB,707
FF)ZHRE 2435 169,488 154,545 14,943
201 2Er24 33,467 21,040 12,427
01 At 22l | 9,267 8,540 727
O=MuUIAY =& 1,950
owaz 50,0002 = 500 » 33| 750
Oosges 200,000 » 2% »* 33| 1,200
ozgsd 2,700
OUIHAESRE EM=
45,0008 * 302% * 13 1,350
O E R =y 1,350,000& * 13 1,350
(OJSIFSE= AX=Z
300,0008 * 20H=Al + 1€ 600
OMAXEAl SRS HFA A= HISFHLH
1,500,000& 1,500
CEECIEIPYIE T 1,950
O8+2 M 80,000& * 1504 1,200
O=r4¢ 50,000& = 1524 750
OS4 2 RHDFYL =T S|
6,000& * 3" x 52 * 73| » 90% 567
02 32224l 24,200 12,500 11,700
OHXZAIZXIAFE 238 (21730201 &)
12,500,000& 12,500
oM AXE 400,000 * 1291 4,800
OE=g-M 2U=2, 282
250,000& = 1200& 3,000
oYM AXE 400,000& * 6IHE 2,400
oYsdM T3, BEEE
250,000 = 6IHE 1,500
202 44l 63,021 41,705 21,316
01 =i bl 672 1,200 AB28
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A ISR
M SHuFHs

E: 2HRBAE (S AMH)
SA - EHH . S(BH) - SAY - BHAS 0l b8 S HRS2
04 & =HuzE =4
20,0009 * 3% x 22 = 73| * 80% 672
03 22 ¥20b| 62,349 40,505 21,844
QOHETANZDIY A=2SEC|Al MAAS(6E) 15,500
os=zss 650,000& = 1H 650
O&ld| 53,900& = 19 x 180& 9,702
Ol 28,6008 + 1€ = 180Y 5,148
OETA ZR2 EZ2FHA| MAAS(1290E) 26,095
ogas 800,000 = 1¥ 800
OAld| 40,700 * 1¥ = 365 14,856
Og| 28,6008 * 19 = 365 10,439
OFEFAN 22 =S2REHA LE2NEAMY F=A 8,560
OEF=y= 800,000& * 5% = 13| 4,000
O=4rtl| 84,7008 * 5% x 5 2,118
OAlH| 48,4002 * 5% x 6 1,452
Ol 33,0008 * 5% » 6 990
OHFAl 22V 0|2 WUHA YRDRAY
=X 8,588
Ogtsg 2,600,000 = 2& = 13 5,200
O=gt| 115,5008 * 29 » 8L 1,848
OAld| 56,9008 * 2% % 9 1,025
[@F1:] 28,6002 * 23 x 9 515
©0I=2 o0&, 2IHE ol& 3,606
ogass 2,600,000 * 1& * 13| 2,600
O=tty| 115,500& * 198 » 5 578
OAlHl 56,9008 * 18 % 5 285
Ogl 28,600 * 1% » 5 143
203 ¥ LE=&b| 3,000 3,000 0
03 ANIZHZ=X AR FXIH| 3,000 3,000 0
O=Z2HEL, WEYER FA 3,000,000 3,000
301 Lereara 55,000 73,800 £18,800
06 G12t01=2 204 HI 29,000 24,500 4,500
O0isrH 4 2lE WAL O] 29,000
oolF=d 4,500,000& * 29 = 13 9,000
OHFTHALAE HEMA HESPFHE (EZ2S
o) 1,000,000 = 20 * 13 20,000
07 28I Z=FH 0| 26,000 49,300 223,300
02LE SECA HE2ENEC 3,600
OZ22a %2 30,000& * 10¥ = 43 1,200
ORIZtNsH &2 30,0008 » 20 * 43| 2,400
OE= REtA| L2NHE 4,200
O222 42 30,000& = 104 * 103 3,000
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A IR0
B FADFL
el IHLSA CEEE)
. SIE]
SH-HY .G (E) - HRAY - BAS 0] &k o i HimE=+T
oglztm® 30,000 * 209 »* 23l 1,200
OE= RAA HE NRE 4,200
O ¢ 30,000& = 10¥ = 103l 3,000
oglztm® 30,000& * 209 * 23| 1,200
OSEHFA 2§22 NI 10,000
O=¢H 150,000% * 259 » 2 7,500
O4ltl 25,0003 * 259 * 44 2,500
OULFREAl 2 EFA A= 2,000
O&r Al 2,000,000& * 13| 2,000
OUEZA &= B HFA A 2,000
(@FAS=PNE=§:] 2,000,000& * 13l 2,000
307 @iztol & 15,000 15,000 0
02 BN EXS 15,000 15,000 0
OHF=EALHE 2EAl HE2HE
5,000,000% * 1OHEHA 15,000
(R)=NMnR= 26,850 50,500 23,650
201 et | 9,300 9,500 A200
01 At 2teltl 1,800 2,000 A200
O=Hu=F Bl Ol &HE 2 1,800
02 33224l 7,500 7,500 0
O©=HzstXl g= 7,500
202 044l 9,450 14,000 24,550
04 = MsHod I 9,450 14,000 A4,550
O=MNFRZAl ZE0IHl GI&tEZ 9,450
2= D Z20tetE 4 9,450
301 EtEAZ 8,100 27,000 218,900
07 2el=&N 8,100 27,000 218,900
OZMUFTA ZHOHI(L2) HaEZ 8,100
HEeEs (I X ) 1,000,000 1,000,000 0
LHE A2 X 1,000,000 1,000,000 0
(HF)HEHAX 1,000,000 1,000,000 0
TR IISHES 1,000,000 1,000,000 0
01 JI2dES 1,000,000 0 1,000,000
O=EAIIgEHIIZ A 500,000,000& * 13 500,000
OFXXAEIIS & 500,000,0008 * 12 500,000
Y B#HXY 2 gs 23l 6,223,220 4,154,742 2,068,478
= 1,036,078
Al 5,187,142
ROl =&t D 20,000 24,000 24,000
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M OSN3

Mo IR BATH U JIYRK BE 2T
S| ZiXiol= A Dl =4 (&9 &)
2 : SIE]
S EB . ER(3IH) - HRAY - BAS 0] &t S TimE=ET
(FF)maitol=ae =4 & 20,000 24,000 24,000
307 @iztol ™ 20,000 24,000 A4,000
02 QPN EES 20,000 24,000 24,000
OOl =L X2 4,000,000& = 550 20,000
TN S8s2 2JRINLFA 29,574 21,772 7,802
(BF)Igex &= 20,574 11,772 8,802
201 el 6,207 1,920 4,287
01 AtR2eltl 6,207 1,920 4,287
OJIgRA HF =&
6,000& * 498 « 79& = 90% 1,707
OHBHEHRX SEHA M
3,000& = 5005 1,500
OEXNSRX EEHA MZ  3,000& = 1,0008 3,000
202 044l 4,367 4,852 A485
01 =LHOIBI 4,367 4,852 A485
Ol 2d SH0O
75,8003 * 29 x 32 « 125] « 80% 4,367
203 R F &l 5,000 5,000 0
03 Al FXHRZ=AIH] 5,000 5,000 0
OJd=X =& 5,000,000& 5,000
307 2lztol A 5,000 0 5,000
02 QIFAEES 5,000 0 5,000
OAHEHE AEAM e-dEd NI 5,000,000& 5,000
(Ha)ILd=A 9,000 10,000 A 1,000
201 et A 6,300 7,000 AT00
01 At 22lHl 6,300 0 6,300
OFEXRX E2=SHZE MR 2,700
OEXNRX EEZEZ WE oz 3,600
202 Gl 2,700 3,000 A 300
01 =2UGYI 2,700 0 2,700
OJIgRX EF0HH HaEH 2,700
sEA0|Y 4 6,173,646 4,108,970 2,064,676
& 1,036,078
Al 5,137,568
(HR)SLIILXEH 2,751,490 2,273,940 477,550
201 LBt A 90,890 12,940 77,950
01 AtR22lH 10,890 0 10,890
OJIZXEAH EEE HZE GaEZ 4,500
OMZYHM X MA a2 4,500
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H: )Y BFXY L DR g5 2E
@ s 84 (&2 ™)
=] = 24 o|(s = Ao oH dET —
A M. A (SH) - MFEAY - HAS Oil koK 0| AFoH Hus
faJlge ) oflarE 1,890
03 A2 HI 80,000 0 80,000
©'HaJ|g&' 80,000
202 G4l 3,600 4,000 2400
01 =LHA bl 3,600 0 3,600
OJg X EZE0I & 3,600
306 EA2 100,000 0 100,000
01 &d3 100,000 0 100,000
O==HALIA S (3 2XEE) 100,000
307 oi2to| ™ 2,557,000 2,257,000 300,000
04 CIZFEHALE 57,000 0 57,000
OQ&EAZ D 2 dsUs K&
10,000,000& =13l 10,000
OEAC 7,000,000x13] 7,000
OFHA - 30,000,000 14 30,000
OHAE=H 10,000
08 OIXtEN 2 2,500,000 0 2,500,000
OSAHX2 OIXEE2(3%, 44000 LX) 2,500,000
HE)VHEZZSEHIZLIANE 248 XA 1,250,000 0 1,250,000
402 212H X2 0] 1,250,000 0 1,250,000
01 B2t EELS 1,250,000 0 1,250,000
OHFAACHT HIXILIAME A (AL
&§32) 1,250,000,000& 1,250,000
(HeEAIIHUEHX2 02X (ZH) 2,072,156 1,835,030 237,126
= 1,036,078
Al 1,036,078
307 212+0| A 2,072,156 1,835,030 237,126
= 1,036,078
Al 1,036,078
08 OIXtE2M 2 2,072,156 0 2,072,156
(CESPIR) = OIXEH 2,072,156
< 1,036,078
Al 1,036,078
M)A S HADA 100,000 0 100,000
306 EH= 100,000 0 100,000
01 &432 100,000 0 100,000
oxx&HA LA SHAFR(2
A 3Xt 100,000
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